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QT 3397 :
G) gl @vel & @4t yeT AT & |
(i) U9 J97 & [HERT 3% 39 qrgd e 1 §

(iii)  F97 G&IT1 -5 77 17 - 21 371a TFHIHS F97 &, 5779 J% &7 1 375 8 |
59T Yo &1 I Uk FTaFT § 57 3957 8 |

(iv) 97 T&IT 6- 10 37K 22 - 26 TGHIHF 97 &, 978 J9% & 3 3% & |
Je9% BT IR T 60 Jeg] & 37fer 787 517 =T |

(v)  T97 G&IT 11 - 13 37K 27 - 29 4} TGHIHH 97 &, 577 J4% & 4 37% & |
eI & I GIET=TT: 70 V5G] & 3 T8 571 08T |

(vi) 397 &I 14-16 3K 30 - 32 FEIIHF I aIct J97 &, 1975 I9% &
6 3% & | I9% T I GII=a: 100 JI5E] @ 379 757 547 T30 |

(vii) TRIfHA (*) J97 GoATERT 597 & |

(viii) I GG TIT TeIIcHF &4 TRT TIT ITEIT FHR & T8 &7 & Tt &
faw s =T |

General Instructions :

(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each.

(iti) Questions No. 1 -5 and 17 - 21 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv)  Questions No. 6 - 10 and 22 - 26 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Questions No. 11 — 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. 14 - 16 and 30 - 32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Questions marked star (*) are value-based questions.

(viii)) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.

58/1/1 2



wus A
SECTION A

*1,  3IcAIGT GHAT o HeH H e < fowar & e S1ide You 1 AW Sarsy | 1

Name the economic value achieved through the spread of education in
the context of production potential.

2.  3IYATET k1 379 §dTSU | 1

Give the meaning of utility.

3.  3HAHied ATl % 31 IeEWN AT | 1

Give two examples of implicit costs.

4.  I& 1 qfd P HUG TAEGR HS H Il 8 ? 1

When is supply of a good said to be price inelastic ?

5. 3cTed 94 W 3fiHd foor ama = ued) 8 2 1

Why does average fixed cost fall with increase in output ?

6. 1 IcUTEH L h! GHET FI 39 Bl 7 ? THSATST, | 3
Why does the problem of ‘what to produce’ arise ? Explain.

7. A 3R B UREAH IEq¢ & | A I FWd H ghg % B H AT W IAE H
SET T | 3

rerat
"I # “ghg” < foRmel 31 HREN 6l =TE HIfT |

A and B are substitute goods. Explain the effect of rise in price of A on
the demand for B.

OR

Explain any two causes of “increase” in demand.

58/1/1 3 P.T.O.



10.

11.

12.

58/1/1

3T & Tcdeh T T HHT=d ANTG 1 ek shifu

g

EICNEETER) 1 2 3 4 5 6
3ftaa gitadt @ (T) 13|11 | 10 | 10 | 11 | 12

Calculate marginal cost at each level of output :

Output (units) 1 2 3 4 5 6
Average variablecost (¥) | 13 | 11 | 10 | 10 | 11 | 12

T 10 Ufd $o1g <hl hIHd T Teh %] h! Ifd 80 1S & | 6 SEh! hIHd TG
T 12 9fd 315 & AT 7, @ gHhT qfd 20 ufowd §@ St 7 1 gfd < hroa
A T Tehai hifaT |

At a price of ¥ 10 per unit the supply of a good is 80 units. When its
price rises to ¥ 12 per unit, its supply rises by 20 percent. Calculate
price elasticity of supply.

gfd 95k % 3I5 TR e & Tohmal g1 RUT 1 ST i |

Explain any two causes of a rightward shift in supply curve.

Teh IUNIHT haol G TEGST T ITHIT LT 7 3 Tger § 3 | fommse o
&g <l hma R w4 faudia arsrg g 8 | Swnfian fowewor it agmera |
HHATLT |

A consumer consumes only two goods and is in equilibrium. Show that

price and demand for a good are inversely related. Explain using utility
analysis.

T 10 fd 3o 1 hivd W Tk a&q <l HIT AL 1500 $HTS & | SEehT | I
FHTd A9 (-) 1.5 2 | 99 39! BT TRt T 8 U TS 81 St 7, aF S
T g feradt gt 2 gitehe hifSw |

HAAAT

AT <hl T AT ol Uehad e shl ST fafer it samean i |

The quantity demanded of a good is 1500 units at the price of ¥ 10 per
unit. Its price elasticity of demand is (-) 1-5. Calculate its quantity
demanded, when its price falls to ¥ 8 per unit.

OR
Explain the geometric method of calculating price elasticity of demand.
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13.

14.

15.

16.

Note :

58/1/1

T U SiEnt STeTR <Al g forivaTd siamsy | 4

State the main features of a perfectly competitive market.

IHTYH T5h TIvcivur 1 TERAT | IUNIRKT o Fga ohl SAREAT T | 6
AUAT

Teh JUNIRKT hadl &l Segatl T TN AT 3 | ITNTrar fogeiwor Y wgrrar o
YRR o T hl SRS HIT |

Explain consumer’s equilibrium with the help of indifference curve
analysis.

OR

A consumer consumes only two goods. Explain consumer’s equilibrium
with the help of utility analysis.

Teh GEATcH 3CTEL0T ! TERIAT H 3c1eeh o Tl ohl Il ohl AT SHIfT |
T amTa TR dmra 3w (Turty) fafyr 1 seEm Hifw | 6

Explain the conditions of producer’s equilibrium with the help of a
numerical example. Use marginal cost and marginal revenue approach.

T G o G ST HT A THIAEY TR 30 a&q ! shiwd, AT IR qfd
T ATET T SGAT I ST IR | (TG 1 J=A0T i) 6

Explain the meaning of excess supply of a commodity and its chain of
effects on price, demand and supply of the commodity. (use diagram)

HETfeTRaT F97 a7 gIRgiT ahemiaal & 1o7q o7 G&37 16 & €7 W & |

The following question is for the Blind Candidates only in lieu of
Q. No. 16.

T 9 o Gl AR 1 3 THIASY R 3Heh a&q bl hiAd, HIT R qfd
T WAl i TEE i ST hHIT | (ATfeTert 1 J=0 Hi) 6

Explain the meaning of ‘excess supply’ of a commodity and its chain of

effects on price, demand and supply of the commodity. (use a schedule)

5 P.T.O.



17.

18.

19.

20.

21.

22,

23.

24.

58/1/1

wis
SECTION B

TER A hl g €T |

Define national income.

USTd &g 1 19 9y |

Give the meaning of capital good.

grafyr STd =7 gidl 3 2

What are time deposits ?

Tt ToTEa IITEt o @ Iergeor difvu |

Give two examples of non-tax revenue receipts.

HIHT S 7 BT 8 ?

What is a government budget ?

3 & IhIY JdTg hl =TT I |

Explain the circular flow of income.

HET % o §99 Y i AT HIT |
AT
“TTHR o S o T H hrold Sh hl Y[R hl SATEAT hIT |

Explain the ‘store of value’ function of money.

OR
Explain the role of central bank as a “Banker to the government”.

39d = Jgid 1 37 Fa1Y | e ITHM TG o WY THRT FAT qEY
B 8 ?

Give the meaning of average propensity to save. What is its relation
with average propensity to consume ?

6



25.

26.

217.

28.

58/1/1

frasT Turek 1 7o TUITEY | ST <[Han AR fehad Yo w8l Tehdl § ?

Explain the meaning of investment multiplier. What can be its

minimum and maximum value ?

YT Gga @Td & die] @Td 3R ST @Td H b Teehi o YN W U
HIfT |

Distinguish between current account and capital account of the balance

of payments account on the basis of its components.

qifuIfsaes o Org Wi forg TR v 8 ? T 3T hl HEEdl ¥
qydnsa |
AT

Gl IT9R o HRESATT 1 A THARY | F5d S Gal qd I HARA HH
foTT STt TR S Tt B ?

How do commercial banks create credit ? Explain with the help of an
example.

OR

Explain the meaning of open market operations. How is it used by the
central bank to control money supply ?

frfifiaa sTihsl ¥ “re ard W Had qod Tghg” i Iiehad hiT

(& @l 7)
(i)  AeFad U9 300
(i) I H qiEadd 50
(iii) o T 70
(iv) Teshl 500
(v)  oT=d Yoil T STHA 20
(vi) 3T 40

3

7 P.T.O.



Calculate “Net value added at factor cost” from the following data :

(T in Lakhs)
1) Intermediate consumption 300
(11) Change in stock 50
(iii)  Net indirect taxes 70
(iv) Sales 500
(v)  Consumption of fixed capital 20
(vi) Imports 40

*29, e oo fageft ggr i FHiwa g1 W FEEw wH % T wew 3IaTar 7
THATEY, 3TH hiA-H M qeo ikt § S fop o1 ameHt @ wwafea § |
The central bank takes steps to control rise in the price of foreign

exchange. Explain the economic values it involves as far as the common
man is concerned.

30. “Iufther TIIST I k1 Uiehad I -

(T #isl H)

() et &7 = s dra W faw

3 3T § AN I 700
Gi) frm 40
(i) TocEn @ faa &R o™ (=) 20
(iv) HousHE 50
(v) Tsht fmfia & <t = 150
(vi) THR & T T 80
(vii) TEH R0 9 A 60
(viii) NERi grT fou T e 70
(ix) T =t fae <oy s&aiaw (-) 10

AT

58/1/1 8
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T 3T T 9iehar IR :

() Traa i et o

(i) TNl AT ITHT =

(i) Toeer @ fraat wr om

(iv) Tt srf<m v =

(v)  HeIgE

(vi) Taa fria

(vii) Taa sTae

(vii)) 39 fava & faa =me] gearaw

Calculate “Personal disposable income” :

) Net domestic product at factor cost
accruing to private sector

(i1)  Corporation tax

(iii) Net factor income from abroad

(iv)  Depreciation

(v) Savings of private corporate sector
(vi)  Current transfers from government
(vii) National debt interest

(viii) Direct taxes paid by households

(ix) Net current transfers to abroad

OR

(¥ #isl H)

150

300

(=) 20
600

30

50

90

40

(< in Crores)

700
40

(=) 20
50
150
80

60

70

(-) 10

P.T.O.



Calculate national income :

(< in Crores)
1) Net domestic capital formation 150

(i1)  Government final consumption expenditure 300

(iii) Net factor income from abroad (=) 20
(iv)  Private final consumption expenditure 600
(v)  Depreciation 30
(vi)  Net exports 50
(vii) Net indirect taxes 90
(viii) Net current transfers from rest of the world 40

31. (31) wrd fFaw i Ifa faw & = 31 @ |
(9) UH AITIEAT b qR T 7 TSR o YR W IFh! AT & T

TR I qiha HIfT

() T ITHA = 100
(i) Hu IR FER = 0-75
(i) frermr = 5000

(a)  Distinguish between autonomous investment and induced

investment.

(b)  On the basis of the following information about an economy,

calculate its equilibrium level of income :

(i)  Autonomous consumption = 100
(ii) Marginal propensity to consume = 0-75
(iii) Investment = 5000

58/1/1 10



32. Tr=faiad # 9 HINT | I3 &1 Teh-Ush 30 i difN |
(31) T L I IITLT B

(F) T =T IR g
Distinguish between the following. Also give an example of each.

(a) Direct tax and Indirect tax

(b)  Revenue expenditure and Capital expenditure

58/1/1 11



SENIOR SCHOOL CERTIFICATE EXAMINATION

JULY-2014

MARKING SCHEME — ECONOMICS (DELHI)
(SET-I)

Expected Answers / Value Points

GENERAL INSTRUCTIONS :

1. Please examine each part of a question carefully and allocate the marks
allotted for the part as given in the marking scheme below. TOTAL MARKS
FOR ANY ANSWER MAY BE PUT IN A CIRCLE ON THE LEFT SIDE WHERE THE
ANSWER ENDS.

2.  Expected suggested answers have been given in the Marking Scheme. To evaluate
the answers the value points indicated in the marking scheme be followed.

3.  For questions asking the candidate to explain or define, the detailed explanations
and definitions have been indicated alongwith the value points.

4.  For mere arithmetical errors, there should be minimal deduction. Only %2 mark be
deducted for such an error.

5.  Wherever only two /three or a “given” number of examples / factors / points
are expected only the first two /three or expected number should be
read. The rest are irrelevant and must not be examined.

6. There should be no effort at “moderation” of the marks by the evaluating
teachers. The actual total marks obtained by the candidate may be of no
concern to the evaluators.

7. Higher order thinking ability questions are assessing student’s understanding /
analytical ability.

8. {;} indicates value based questions.

General Note : In_case of numerical question no mark is to be given if only
the final answer is given.
. Distribution
Al
Expected Answer / Value Points of Marks
SECTION - A
1 | It will result in increase in efficiency leading to economic growth. 1
2 | Itis the want satisfying power of a commodity. 1
3 | (i) Estimated wages of services of owners.
(ii) Estimated rent of owner’s factory building, etc. ax2
(iii) Any other (Any two)
4 When the percentage change in its price is greater than the percentage change in
its supply. 1




5 | As TFC is fixed, increase in output results in fall in AFC. 1
6 | It arises because resources are scarce and have alternative uses. Since many goods
and services can be produced from these resources, the problem is that which of 3
these should be produced.
7 When price of A rises, B becomes relatively cheaper. So it is substituted for A. Thus 3
demand for B will rise.
OR
Causes of increase in demand :
(i) Rise in price of substitute good. 1%
(i) Fall in price of complementary good. 1%
(Brief explanation)
(Any other relevant cause)
3 Output AVC TVC MC
1 13 13 13
2 11 22 9
3 10 30 8 % X6
4 10 40 10
5 11 55 15
6 12 72 17
— P AQ
10 _ 16
Es = 80 " 2 1%
=1 v
Note : Alternative method can also be used
Percentage Change in supply = 20
Percentage change in Price = 12—0 X 100 = 20 1
E. = % change in supply
S T 9 change in price 1%
20
E, = 7 =1 A
10 (i) Use of improved technology leads to fall in cost and thus rise in profits. Price 1%
remaining unchanged, supply curve shifts to the right.
1%

(ii)_Fall in prices of factor inputs reduces cost and thus raises profit. Price
remaining unchanged, supply curve shifts to the right.
(iii) Any other

(Any two)

Pg. 2



11

For the consumer to be in equilibrium, equilibrium condition to be fulfilled is:

MUx _ MUy

Px Py

Suppose the price of x falls , then

MUz _ MUy
Px Py 4
Since per rupee MUx is higher, the consumer will buy more of X.
Thus there is an inverse relationship between price and demand for a good.
_P, A
_ _ 10 . AQ
L5 = 500 X 22 1%
AQ = 450 unit v
Quantity demanded at Rs. 8is Q + AQ = 1500 + 450 = 1950 units
1
OR
b
A
fhice
¢
T
° _ o
Byqnlity
On a straight line downward sloping demand curve AB, price elasticity of demand 4
at point C
_ Lower segment
d= Upper segment
_cB
" AC
13 Main features of a perfectly competitive market :
(i) There are very large number of buyers and sellers x4
X

(ii) The products are homogenous.
(iii) There is free entry and exit of firms.
(iv) Buyers and sellers have perfect knowledge of the market.

Pg. 3



14

Let the two goods the consumer consumes be X and Y.

The two conditions of equilibrium are :

(1) MRS = 2=
Py

(2) MRS falls as more of X is consumed in place of Y.

Explanation :

(1) Suppose MRS > Ii—x i.e. consumer is not in equilibrium. It means that to obtain
y

one more unit of X consumer is willing to sacrifice more units of Y as
compared to what is required in the market. The consumer buys more of X.

. . P I
MRS falls and continues to fall till it is equal to P—x and the consumer is in
y

equilibrium.

(2) Unless MRS falls as consumer consumes more of X, the consumer will not
reach equilibrium again.

(Explanation based on MRS < i—x is also correct)
y
OR
Assuming that the only two goods the consumer consumes are X and Y, the
conditions of equilibrium are :

MU, _ MU,

(1) 2% =

Py Py

(2) MU falls as more is consumed

. MU, _ MU . . I
Explanation : (1) Suppose - <> P—y .The consumer will not be in equilibrium
x y

because per rupee MU of X is greater than per rupee MU of Y. This will induce the
consumer to buy more of X by reducing expenditure on Y. It will lead to fall in MUx
. . . . MUy _ MU,y
and rise in MUy. This will continue till — = —=
Py Py
(2) Unless MU falls as more of a good is consumed the consumer will not reach
equilibrium.

. MU, _ MUy .
(Explanation based on —= < —2 is also correct.)

x Py
15 Output MR MC
1 10 12
2 10 10
3 10 9
4 10 10 |
5 10 13

(Any other relevant numerical example)
The two conditions of producer’s equilibrium are
Are = (i) MC= MR
(ii) Beyond this level of output MC > MR.
(Brief explanation required)

These conditions are satisfied when 4 units of output are produced in the given
schedule.

Pg. 4



When at the given price of a commodity its quantity supplied is greater than its

16 1
guantity demanded then there is “excess supply” of this commodity.
Phice p! \h / B/
P 3
2
s D N
o Q
0uo.n,at7
At price OP* there excess supply equals to AB. This result in competition among
sellers. Price will falls as a result there will be expansion of demand and
contraction of supply as shown by arrows in the diagram.
These changes continue till price falls to OP at which quantity demanded and 3
supplied are equal to OQ.
For the blind Candidates
Price Supply Demand
10 40 30
9 35 35 2
8 25 40
(Or any other schedule)
At price 10/- there is excess supply equal to (40-30) = 10 units 1
Explanation (Same as given above) 3
SECTION -B
17 | It is the sum of the factor incomes of normal residents of a country. 1
18 | Capital goods are the goods which are used for producing other goods. 1
19 | Time deposits are deposits which can be withdrawn after a fixed period. 1
20 | Interest receipts, dividend from public sector undertaking, external grants etc. %ax2
(Any two)
21 | It is a statement of expected receipts and expenditure of the government during a 1
financial year.
22 1. Incomes are created in production units.
2. Production units distribute this income to households in return for factor 3

services provided.
3. Households spend this income on goods and services produced by the
production units, thus making the circular flow of income complete.
(Diagram Not necessary)

Pg.5



23

Money as a store of value implies that it can be stored for use in future. One can
use one’s present income in the future because money comes in the convenient
denominations and is easily portable.

OR

Central bank is banker to the government like commercial banks are to the
public. It accepts deposits from government and gives loans to the government
in times of need.

24

Average propensity to save is the ratio of saving and income i.e. S/Y.
The sum of average propensity to save and average propensity consume is 1.

25

. . . . - AYY . .
The ratio of increase in income to increase in investment (E) is called investment
multiplier.

1
1-MPC

Investment Multiplier K= L OR K=
MPS

The minimum value of MPS is zero (MPC=1), in this case value of Multiplier is
infinity which is its maximum value.

The maximum value of MPS is 1 (MPC=0). In this case K=1 which is its minimum
value.

26

The current account of BOP records :

Exports and imports of goods, Exports and imports of services, Income receipts
and payments and Transfer receipts and payment.

Whereas the capital account records :

Borrowings from and to abroad , Investments from and to abroad and Decrease
and increase in foreign exchange reserves.

27

Money creation (or deposit creation or credit creation) by the banks is determined
by (i) the amount of the initial fresh deposits and (ii) the Legal Reserve Ratio (LRR)
the minimum ratio of deposit legally required to be kept as liquid assets by the
banks. It is assumed that all the money that goes out of banks is redeposited into
the banks.

Let the LRR be 20% and there is a fresh deposits of Rs. 10,000. As required the
banks keep 20% i.e. Rs. 2000 as reserves. Suppose the banks lend the remaining
Rs. 8000. Those who borrow, use this money for making payments. As assumed
those who receive payments, put the money back into the banks. In this way
banks receive fresh deposits of Rs. 8000. The banks again keep 20% i.e. Rs. 1600 as
reserves and lend Rs. 6400, which is also 80% of the last deposit. The money again
comes back to the banks leading to a fresh deposit of Rs. 6400.The money goes on
multiplying in this way , and ultimately total money creation is Rs. 50000.

Given the amount of fresh deposit and the LRR, the total money creation is :
Total money creation = Initial deposit X ﬁ

OR

Purchase or sale of government securities by central bank in the open market is
called open market operations. When central bank wants to increase money
supply, it buys Govt. securities and money supply increases. When it wants to
decrease money supply it sells government securities and money supply
decreases.

Pg. 6



28 | NVAat F.C.= (iv) + (ii) — (i) — (iii)) — (v) 2
=500+ 50 —300—-70—-20 1%
= Rs. 160 lakhs. Y
29 | Controlling rise in price of foreign exchange makes imports cheaper. The economic 4
value is that common man now has to pay less for goods and services imported.
30 Personal Disposable Income = 3
(@) + (iii) + (i) + (vii) — (ix) — (ii) — (v) — (viii) 5
=700+ (—20) + 80+ 60 — (—10) — 40 — 150 — 70
= Rs.570 Crore 1
OR
3
N.I.= (iv) + (ii) + (i) + (vi) + (iii) — (vii)) 5
= 600 + 300 + 150 + 50 + (—20) — 90
= Rs.990 Crore 1
31 | (a) Autonomous investment is given and not influenced by income. Induced 2
investment is investment that is influenced by income.
(b)Y=C+IandC = C + MPC(Y)
Y=C+MPCY)+I 2
=100 + 0.75Y + 5000 1%
0.25Y =5100
Y = Rs. 20400 %
32 . . . .
(a) A tax whose impact and incidence falls on the same person is called a Direct
Tax. A tax whose impact and incidence fall on different persons is called an 2
Indirect Tax.
Examples: Direct Tax (i) Income Tax v,
(ii) Wealth Tax etc. (any one)
Indirect Tax (i) Sales Tax %
(ii) Service Tax etc. (Any one)
2

(b) Revenue Expenditure is that expenditure which neither creates any asset nor
reduces any liability whereas capital expenditure is that expenditure which
either creates assets or reduces liability.

Example : - Revenue Expenditure : Payment of salary, pension, subsidies etc.

Capital Expenditure : Construction of Roads, expenditure on
machinery etc.

%

%

Pg.7
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